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1 by 40 37 77 18 59
2 T BB 46 41 87 27 60
3 R TH 40 37 77 17 60
4 K Jelf 42 43 85 24 61
5 KK =i 45 46 91 28 63
6 Pakl 5% 42 42 84 20 64
7 HL E# 41 41 82 18 64
8 [ 56 5% B 43 39 82 17 65
9 NS 25 46 45 91 26 65
10 RE iH 38 40 78 13 65
11 Ay B 43 44 87 22 65
12 JIAE BEfHE 51 45 96 30 66
13 FIHE #(E 45 42 87 21 66
14 AT HEE 42 38 80 14 66
15 L1 W BT 39 38 77 11 66
16 Fi# 24 44 53 97 31 66
17 b B 41 38 79 12 67
18 PR ] 38 36 74 7 67
19 BA TFER 39 36 75 67
20+BG HAR Bin 35 38 73 67
21 RE #+ 38 42 80 13 67
22 AR F 44 41 85 17 68
23 PRS2 43 43 86 18 68
24 A HRFE 43 43 86 18 68
25 H T i 48 46 94 25 69
26 bk =% 57 49 106 36 70
27 ikl 85 45 50 95 25 70
28 H 49 40 89 18 71
29 A E=R 46 44 90 19 71
30 AR 42 41 83 12 71
31 aH EE 43 42 85 14 71
32 EV NI 41 40 81 10 71
33 I FER 43 45 88 17 71
34 LRSS 41 43 84 13 71
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35 KA B 39 43 82 11 71
36 IR fdE— 41 48 89 18 71
37 FiE R= 43 45 88 16 72
38 SRV 44 44 88 15 73
39 fH B 47 46 93 19. 6 73.4
40 By =5 46 47 93 19 74
41 M- K 42 40 82 7.6 74. 4
42 PR IR 49 53 102 27 75
43 ZJm i 42 45 87 12 75
44 2l 5 58 53 111 35 76
45 HH ER 48 46 94 18 76
46 IE EBR 45 45 90 13 77
47 R Ak 44 44 88 11 77
48 EAR L 49 56 105 28 77
49 ER FR 40 52 92 15 77
50 GINSE I PN 50 45 95 17 78
51 HH FET 58 57 115 31 84
52 fisg iy 67 67 134 40 94




